
-1-

1 English

AIR CONDITIONER
Filter kit
Model: TCB-LK2801DP-UL

INSTALLATION MANUAL
Thank you for purchasing the Filter kit for 
air conditioner.
Before starting the installation work, 
please read this manual carefully and 
install the product properly.

1. Adaptation model
Model name Adaptation model

TCB-LK2801DP-UL MMD-AP072*HP-UL, MMD-AP096*HP-UL

2. Accessories
Below parts are included.

Parts name Form Quantity
(1) Frame fi x plate 2

(2) Filter frame 1

(3) Filter 2

(4) Cover 2

(5) Screw  Ø5/32″(M4) × 0.3″(8L) 8

(6) Screw  Ø13/64″(M5) × 0.3″(8L) 4

(7) Screw  Ø13/64″(M5) × 0.6″(16L) 18

(8) Seal material 1

(9) Seal material  0.4″(10t) × 1.0″(25) × 1.4″(35) 2

(10) Seal material  0.4″(10t) × 0.8″(20) × 1.0″(25) 2

(11) Installation manual This manual 1

3. Duct design
Arrangement
Referring to the following dimension, manufacture duct at the local site.

Installation hole
(USE Ø5/32″(M4) × 0.3″(8) 
32 Places)

CL
55.3″(1405)

3.1″(80) 3.1″(80)3.9″(100) 3.9″(100)3.9″(100) 3.9″(100)3.9″(100) 3.9″(100)3.9″(100) 3.9″(100)3.9″(100) 3.9″(100)3.9″(100) 3.9″(100)

C
L

9.
6″

(2
45

)

53.0″(1346.5)

1.
6″

(4
1.

5)
1.

6″
(4

1.
5)

3.9
″(1

00
)

6.
6″

(1
42

)

3.9
″(1

00
)

6.
6″

(1
42

)

11
.1
″(

28
3)

11
.9
″(

30
2)

1116950301-1

01_1116950301-1 EN.indd   101_1116950301-1 EN.indd   1 29/9/2564 BE   08:5629/9/2564 BE   08:56



-2-

4. How to install
1. Peel off the tape fi xing the fi lter rail. 4. Install (2) Filter frame.

And check if the claw of the fi lter rail is not taken off.

Tape

Tape
Tape

(2) Filter frame (6) Screws Ø13/64″ × 0.3″ (M5 × 8) (4pcs) (2) Filter frame

(5) Screws Ø5/32″ × 0.3″ (M4 × 8) (4pcs)

� The fi lter frame gets one having black mold parts (fi lter rail) 
in the lower direction at the time of the installation of indoor unit.

2.  Install (9) (10) Seal material. 5. Install (8) Seal material.
Fit the seal material to the corner and paste it.

(10) Seal material (2) Filter frame

(10) Seal material

(9) Seal material

(9) Seal material

(8) Seal material

(8) Seal material

Stick the seal 
material on the 
basis of this position.

3. Install (1) Frame fi x plate. 6. Install (3) Filter and (4) Cover.

(1) Frame fi x plate

(7) Screws Ø13/64″ × 0.6″ (M5 × 16) (18pcs)
Tighten this screw temporarily.
After attaching the fi lter frame, tighten it 
completely.

Handle (3) Filter (2pcs)

(5) Screws
Ø5/32″ × 0.3″ (M4 × 8) 
(2pcs) (4) Covers (2pcs) (5) Screws

Ø5/32″ × 0.3″ 
(M4 × 8) (2pcs)

� For the fi lter direction, the insertion direction is the handle side as 
the above picture.

� Please confi rm that two pieces of fi lters are connected.
� Please attach the cover with both side.

NOTE

� When you use too long screws at attach a suction duct (local procured), you can not remove the fi lters by attack the screws.
� Be sure to check if the fi lter can be attached and removed after the attachment.

01_1116950301-1 EN.indd   201_1116950301-1 EN.indd   2 29/9/2564 BE   08:5629/9/2564 BE   08:56



-3-

5. External Pressure Loss Characteristic
When you use these “Filter kit”, pressure-loss characteristics depends on Air Flow.

Filter kit, Pressure Loss Characteristics

Air Flow (CFM)

P
re

ss
ur

e 
Lo

ss
 (i

n.
W

G
.)

0 353 706 1059 1413 1766 2119 2472 2825 3178 3531
0

0.04

0.08

0.12

0.16

0.20

0.24

01_1116950301-1 EN.indd   301_1116950301-1 EN.indd   3 29/9/2564 BE   08:5629/9/2564 BE   08:56



-4-

Merci d’avoir acheté ce kit de fi ltre pour 
climatiseur.
Avant de démarrer les travaux d'installation, 
veuillez lire attentivement le présent 
manuel et installer le produit correctement.

1. Modèle d'adaptation
Modèle du modèle Modèle d'adaptation
TCB-LK2801DP-UL MMD-AP072*HP-UL, MMD-AP096*HP-UL

2. Accessoires
Les pièces ci-dessous sont incluses.

Nom de la pièce Forme Quantité
(1) Plaque de fi xation du cadre 2

(2) Cadre du fi ltre 1

(3) Filtre 2

(4) Couvercle 2

(5) Vis  Ø5/32″(M4) × 0,3″(8L) 8

(6) Vis  Ø13/64″(M5) × 0,3″(8L) 4

(7) Vis  Ø13/64″(M5) × 0,6″(16L) 18

(8) Matériau d’étanchéité 1

(9) Matériau d’étanchéité  0,4″(10t) × 1,0″(25) × 1,4″(35) 2

(10) Matériau d’étanchéité  0,4″(10t) × 0,8″(20) × 1,0″(25) 2

(11) Manuel d’installation Ce manuel 1

3. Conception du conduit
Confi guration
En vous référant aux dimensions suivantes, fabriquez le conduit sur le site local.

Orifi ce d'installation
(UTILISER Ø5/32″(M4) × 0,3″(8) 
32 places)

CL
55,3″(1405)

3,1″(80) 3,1″(80)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)

C
L

9,
6″

(2
45

)

53,0″(1346,5)

1,
6″

(4
1,

5)
1,

6″
(4

1,
5)

3,9
″(1

00
)

6,
6″

(1
42

)

3,9
″(1

00
)

6,
6″

(1
42

)

11
,1
″(

28
3)

11
,9
″(

30
2)

2 Français

CLIMATISEUR
Kit de fi ltre
Modèle: TCB-LK2801DP-UL

MANUEL D’INSTALLATION

02_1116950301-1 FR.indd   402_1116950301-1 FR.indd   4 29/9/2564 BE   08:5729/9/2564 BE   08:57



-5-

4. Installation
1. Pelez la bande adhésive du rail du fi ltre. 4. Installez (2) le cadre du fi ltre.

Et vérifi ez que la griffe du rail du fi ltre n’est pas retirée.

Bande adhésive

Bande adhésive
Bande adhésive

(2) Cadre du fi ltre (6) Vis Ø13/64″ × 0,3″ (M5 × 8) (4) (2) Cadre du fi ltre

(5) Vis Ø5/32″ × 0,3″ (M4 × 8) (4)

� Au moment de l’installation de l’unité intérieure, les parties moulées 
noires du cadre du fi ltre (rail de fi ltre) doivent être orientées vers le bas.

2.  Installez (9)(10) le matériau d’étanchéité. 5. Installez (8) le matériau d’étanchéité.
Installez le matériau d’étanchéité dans le coin et collez-le.

(10) Matériau 
d’étanchéité

(2) Cadre du fi ltre

(10) Matériau d’étanchéité

(9) Matériau d’étanchéité

(9) Matériau d’étanchéité

(8) Matériau d’étanchéité

(8) Matériau d’étanchéité

Collez le matériau
d’étanchéité à la base
de cette position.

3. Installez (1) la plaque de fi xation du cadre. 6. Installez le fi ltre (3) et le couvercle (4).

(1) Plaque de fi xation du cadre

(7) Vis Ø13/64″ × 0,6″ (M5 × 16) (18)
Vissez provisoirement cette vis.
Après avoir fi xé le cadre du fi ltre, serrez-la 
complètement.

Poignée (3) Filtre (2)

(5) Vis
Ø5/32″ × 0,3″ 
(M4 × 8) (2) (4) Couvercles (2) (5) Vis

Ø5/32″ × 0,3″ 
(M4 × 8) (2)

� Insérez le fi ltre de manière à ce que la poignée se trouve sur le 
côté, comme sur l’image ci-dessus.

� Veuillez confi rmer que les deux parties du fi ltre sont raccordées.
� Fixez un couvercle de chaque côté.

REMARQUE

� Si vous utilisez des vis trop longues pour fi xer un conduit d’aspiration (achat local), vous ne pouvez pas retirer les fi ltres en retirant les 
vis.

� Assurez-vous de vérifi er que le fi ltre peut être fi xé et retiré après la fi xation.

02_1116950301-1 FR.indd   502_1116950301-1 FR.indd   5 29/9/2564 BE   08:5729/9/2564 BE   08:57



-6-

5. Caractéristiques de perte de pression externe
Lors de l’utilisation de ce « Kit de fi ltre », les caractéristiques de perte de pression dépendent du débit d’air.

Kit de fi ltre, Caractéristiques de perte de pression

Débit d’air (CFM)

P
er

te
 d

e 
pr

es
si

on
 (i

n.
W

G
.)

0 353 706 1059 1413 1766 2119 2472 2825 3178 3531
0

0,04

0,08

0,12

0,16

0,20

0,24

02_1116950301-1 FR.indd   602_1116950301-1 FR.indd   6 29/9/2564 BE   08:5729/9/2564 BE   08:57



-7-

Gracias por comprar el kit de del fi ltro para 
los aires acondicionados.
Antes de comenzar el trabajo de instalación,  
lea este manual cuidadosamente e instale el 
producto correctamente.

1. Modelo de adaptación
Nombre del modelo Modelo de adaptación
TCB-LK2801DP-UL MMD-AP072*HP-UL, MMD-AP096*HP-UL

2. Accesorios
Las piezas a continuación están incluidas.

Nombre de las piezas Forma Cantidad
(1) Placa de fi jación de bastidor 2

(2) Bastidor de fi ltro 1

(3) Filtro 2

(4) Tapa 2

(5) Tornillo  Ø5/32″(M4) × 0,3″(8L) 8

(6) Tornillo  Ø13/64″(M5) × 0,3″(8L) 4

(7) Tornillo  Ø13/64″(M5) × 0.6″(16L) 18

(8) Material de sellado 1

(9) Material de sellado  0,4″(10t) × 1,0″(25) × 1,4″(35) 2

(10) Material de sellado  0,4″(10t) × 0,8″(20) × 1,0″(25) 2

(11) Manual de instalación Este manual 1

3. Diseño de conducto
Disposición
Refi riéndose a la siguiente dimensión, fabricar el conducto en el sitio local.

Orifi cio de instalación
(UTILICE Ø5/32″(M4) × 0,3″(8) 
32 lugares)

CL
55,3″(1405)

3,1″(80) 3,1″(80)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)3,9″(100) 3,9″(100)

C
L

9,
6″

(2
45

)

53,0″(1346,5)

1,
6″

(4
1,

5)
1,

6″
(4

1,
5)

3,9
″(1

00
)

6,
6″

(1
42

)

3,9
″(1

00
)

6,
6″

(1
42

)

11
,1
″(

28
3)

11
,9
″(

30
2)

3 Español

AIRE ACONDICIONADO
Kit de fi ltro
Modelo: TCB-LK2801DP-UL

MANUAL DE INSTALACIÓN

03_1116950301-1 ES.indd   703_1116950301-1 ES.indd   7 29/9/2564 BE   08:5829/9/2564 BE   08:58



-8-

4. Colocación
1. Retire la cinta que fi ja el riel del fi ltro. 4. Instale (2) Bastidor de fi ltro.

Y compruebe si la garra del riel del fi ltro no está despegada.

Cinta

Cinta
Cinta

(2) Bastidor de fi ltro (6) Tornillos Ø13/64″ × 0,3″ (M5 × 8) (4 piezas) (2) Bastidor de fi ltro

(5) Tornillos Ø5/32″ × 0,3″ (M4 × 8) (4 piezas)

� El bastidor de fi ltro recibe una que tiene partes de molde negro (riel de fi ltro) 
en la dirección inferior en el momento de la instalación de la unidad interior.

2.  Instale (9)(10) Material de sellado. 5. Instale (8) Material de sellado.
Coloque el material de sellado en la esquina y péguelo.

(10) Material de 
sellado

(2) Bastidor de fi ltro

(10) Material de sellado

(9) Material de sellado

(9) Material de sellado

(8) Material de sellado

(8) Material de sellado

Pegue el material 
de sellado sobre la 
base de esta 
posición.

3. Instale (1) Placa de fi jación de bastidor. 6. Instale (3) Filtro y (4) Tapa.

(1) Placa de fi jación de bastidor

(7) Tornillos Ø13/64″ × 0,6″ (M5 × 16) (18 piezas)
Apriete este tornillo temporalmente.
Después de fi jar el marco del fi ltro, apriételo 
completamente.

Asa (3) Filtro (2 piezas)

(5) Tornillos
Ø5/32″ × 0,3″ (M4 × 8) 
(2 piezas)

(4) Tapas (2 piezas) (5) Tornillos
Ø5/32″ × 0,3″ (M4 × 8) 
(2 piezas)

� Para la dirección del fi ltro, la dirección de inserción es el lado del 
asa como la imagen anterior.

� Confi rme que dos piezas de fi ltros están conectadas.
� Coloque la tapa con ambos lados.

NOTA

� Cuando se usan tornillos demasiado largos para fi jar un conducto de succión (adquiridos localmente), no se pueden quitar los fi ltros 
atacando los tornillos.

� Asegúrese de comprobar si el fi ltro se puede poner y quitar después de la fi jación.

03_1116950301-1 ES.indd   803_1116950301-1 ES.indd   8 29/9/2564 BE   08:5829/9/2564 BE   08:58



-9-

5. Característica de pérdida de presión externa
Cuando se utilizan estos "kit de fi ltros", las características de pérdida de presión dependen del fl ujo de aire.

Kit de fi ltro, características de pérdida de presión

Flujo de aire (CFM)

P
er

do
da

 d
e 

pr
es

ió
n 

(in
.W

G
.)

0 353 706 1059 1413 1766 2119 2472 2825 3178 3531
0

0,04

0,08

0,12

0,16

0,20

0,24

03_1116950301-1 ES.indd   903_1116950301-1 ES.indd   9 29/9/2564 BE   08:5829/9/2564 BE   08:58



03_1116950301-1 ES.indd   1003_1116950301-1 ES.indd   10 29/9/2564 BE   08:5829/9/2564 BE   08:58



03_1116950301-1 ES.indd   1103_1116950301-1 ES.indd   11 29/9/2564 BE   08:5829/9/2564 BE   08:58



03_1116950301-1 ES.indd   1203_1116950301-1 ES.indd   12 29/9/2564 BE   08:5829/9/2564 BE   08:58


	01_1116950301-1 EN
	02_1116950301-1 FR
	03_1116950301-1 ES


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


